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If you want to solve the problem now, | suggest you _ your tone when you talk to those furious investors
down the hall.

(A) tolerate (B) isolate (© concentrate (D) moderate
Mike and l are of __ spirits in our appreciation of fine arts; we are similar.

(A) desolate (B) desperate © kindred (D) knowledgeable
The flood problem hasbeen __ about by the increase in global warming.

(A) caused (B) happened (© brought (D) sought

The library has designated one room forthe __ use of graduate students.

(A) excruciating B explicit (©) excursive (D) exclusive
Scientific research has confirmed that two thirds of the planet’s surface _ covered with water.

) is (B are © have been (D to be
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31 _,inthe United States, that toothbrushes made of synthetic nylon were introduced.
(A) It wasn’t until 1938 (B) Until 1938 ©) It was until 1938 (D) Being in 1938

32 A terrorist bombing in downtown Madrid Kkilled two hundred people, _ were office workers on their way to
work.
(A) many of them (B many of whom (© most of those (D) some of them

33 In preparing a speech, the speaker has to know whothe __ audience is, what to say, and how to say it.
4) intended (B) intending (© having intended (D) been intending

34 Gaysand lesbians __ for heterosexuals to write their history.
(A) found it unacceptable (B) found them unacceptable
(©) found unacceptable (D) found that unacceptable

35 _ to some observers scuba diving seems tedious, those who learn the intricacies of the sport find it both
exhilarating and soothing.
(A) Because (B) Although © As (D) Since

36 | __ toseethe scientist bring biological phenomena to bear on the question of linguistic usages in his research.
(A) have interest (B) am interesting (© am interested (D) interest myself

It started with turmeric. An essential 37  of most Indian curries, the spice was paid tribute by Marco Polo. He

38 it favorably to saffron, and noted its importance in traditional medicines. Indeed, Indian doctors have long
reached for the knobby yellow root to _ 39 a variety of ailments from skin disease to stomachache and infection. So
when two US-based researchers were _ 40 a patent in 1995 on turmeric’s special wound-healing properties, a
collective howl of outrage arose from the subcontinent. “Housewives have been using turmeric for centuries,” says V.K.
Gupta, director of India’s National Institute of Science Communication and Information Resources in New Delhi. “It’s
outrageous that someone would try and patent it.” The patent was eventually revoked, _ 41 a decade-long battle in
which the Indian government and private sector spent millions of dollars on research and legal matters to prove that
turmeric’s qualities were well documented in ancient medical textbooks.

37 (A factor (B) ingredient (© procedure (D) segment
38 (A compared (B) compressed (©) combined (D) complied
39 () collect (B) detect ©) specify (D) treat

40 (8 acknowledged (B) awarded (©) donated (D) delivered
41 (A after (B) with ©) for D) in

42  When you negotiate, leave something on the table.
&) In a successful negotiation, the winner should always take all.
(B) When you negotiate, be kind to your opponent; don’t take all.
(© When you negotiate, leave some tips on the table.
(D) When you negotiate, don’t clean up the table.
43  Technology may make it easier to reach beauty, but it has not simplified the process of possessing or appreciating it.
(&) Although we can become beautiful by technology, the process isn’t simple.
(B) Technology has nothing to do with beauty.
(©) Technology is proved powerful to help us appreciate beauty.
(D) Technology can bring beauty to us, but it does not make it easier to appreciate beauty.
44 It is essential, if man is not to be compelled to have recourse, as a last resort, to rebel against tyranny and
oppression, that human rights should be protected by the rule of law.
(A) Tyranny and oppression should not be protected by the rule of law.
(B The rule of law should protect people from being oppressed.
© If a man is not oppressed by a tyrant, he will never rebel.
(D) If a man rebels against tyranny and oppression, he should enjoy his human rights.
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Succumbing to pressure from the chemical industry, the legislature amended the regulations.

(A) The legislature surrendered to the pressure of the chemical industry and modified the regulations.

(B) The legislature objected to the pressure of the chemical industry and complied with the regulations.

(© Despite the pressure from the chemical industry, the legislature changed the regulations.

(D) Despite the pressure from the chemical industry, the legislature insisted on enforcing the regulations.

In nontechnological societies, adult behaviors are learned and understood with only occasional verbal explanation.

(A) Children in pre-industrialized societies rely on minimum oral communication to grasp the meaning of adult
behaviors.

(B) Adults from technologically backward societies understand the meanings of others’ behaviors through
explanations in books.

(© Modern technologies help children learn about adults’ ways of life on different occasions through computers.

(D) Children in pre-industrialized societies were introduced to the worlds of the adults mainly through spoken
words.

Traditional surgical procedures require surgeons to make large incisions in a patient’s body in order to gain access to

the internal organs. The patient then has to recover from the trauma of the surgical treatment and the large wound created
by the incision. In recent years, a surgical technique known as “keyhole surgery” has become popular. This technique
eliminates the need for surgeons to make large incisions. Instead, a couple of small incisions, each measuring about one

centimeter, are made around the area to be operated on. Long instruments, which look a bit like chopsticks, are inserted
through the tiny incisions and into the patient’s body. At the end of these instruments are small surgical tools. A tiny
camera is also inserted into the body through one of the incisions. The camera relays an image of what is happening

inside the patient’s body to a large computer monitor, so doctors are able to see what is going on, and where to place the

tools. The awkward part of keyhole surgery is that it is counterintuitive; if a surgeon wants to move the tool to the left, he

or she must push it to the right, and vice versa.
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The major difference between traditional surgery and keyhole surgery liesin

(A) the use of computer (B) the size of incisions

(©) the patient’s recovery time (D) the use of surgical tools
What is the disadvantage of keyhole surgery?

&) It is difficult to create tiny incisions.

(B) It may be difficult to handle surgical tools.

(© The keyhole surgery is contrary to traditional surgery.

(D) Small surgical tools have to be attached at the end of a long instrument.

What is the best title for the passage?

(A) The Popularity of Keyhole Surgery (B) The Advantages of Keyhole Surgery
(© Keyhole Surgery Saves Your Life (D) Less Pain in Keyhole Surgery
Which of the following statements is NOT implied in the passage?

(&) The larger the incision, the slower the recovery.

(B) Keyhole surgery may cause inconvenience for surgeons.

(© A computer directs the surgeons where to place the surgical tools.

(D) Chopsticks are used to make tiny incisions on the patient’s body.



